24

22

20

18

16

14

12

10

Assignment60-1

Riley Paddock
November 2020

* * Healthy
* Diseased

-

* o
»
O * -
* ¥ »*
LR ™
»
* o
¥ L
* »
» -
¥ *
A F
- -
| &
» a
1 1 1 1 1 1 1
14 16 18 20 22 24 26
o
p1

28



1728 216
54A,16B; i ity = —— = ——
ST TPHER = 9500 ~ 1225
216 57 162
d f split = —— — e
OOCHESS OF SPA 1225 (70 3279)
r1 < 13 x1 > 13
162
4A,3B; i ity = ——
138 54A,3B; impurity 3979
impurity = 0 d £ split 162 50 300
oodness of split = - —-
5 PP~ 3279~ 57 5618
72 <19 22 > 19
50A4,3B
impurity = ﬂ 4A
618 : itv — 0
oodness of split 30 108 300 ey
ness of split = — .
& POTPIN T 5618 T 1152 5618
1 > 18.25 &1 182 —
18A,3B; impurity = 1152
324
. o . 108
impurity = 0 goodness of split = 181@7
(6771 ) 56708) + (i ’ E))
To > 11 To < 11
8
15A,2B; i ity = — A 1B; i ity = —
5A,2B; impurity 578 3A,1B; impurity 3
i 60 16 30 .
goodness of split = 578 17 B2 goodness of split = 32
T2 S 18
20 x> 18 x> 17.75 r1 < 17.75
15A4,1B; i ity = —
5A,1B; impurity 512
162
dness of split = ——
goodness of spli 3979 34
] 1_B ) 15 impurity =0
21 > 13.75 21 < 1375 impurity = 0 impurity = 0
15A 1B
impurity = 0 impurity = 0




